
MATHS

BOOKS - VGS MATHS (TELUGU)

గణితానుగమనం

Exercise

1. గణితనుగమన పద్ద తిని ఉపయోగించి ప్ర తీ  కు కింది వాటిని

రుజువు చేయండి.

Watch Video Solution

n ∈ N

12 + 22 + 3(2) + …. . + n
2 = n(n + 1)(2n + 1) /6

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DWZ3t5iCvJGd
https://dl.doubtnut.com/l/_x0KSclEUtA4Y


2. 2.3 + 3.4 + 4.5 +…...(n పదాల వరకు )= 

Watch Video Solution

n(n2 + 6n + 11)/3

3. 

Watch Video Solution

+ + + …. . + 1/(2n − 1)(2n + 1) = n/2n + 1
1
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1
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4.  +…..+(n పదాల వరకు )=

Watch Video Solution

43 + 83 + 123 16n2(n + 1)2

5. a+(a+d)+(a+2d) + …..(n పదాల వరకు )=

Watch Video Solution

[2a + (n − 1)d]
n

2

https://dl.doubtnut.com/l/_x0KSclEUtA4Y
https://dl.doubtnut.com/l/_s4Qt0NxAMR0k
https://dl.doubtnut.com/l/_506ZfGmFv5Mn
https://dl.doubtnut.com/l/_K1Ubg6Ri4djl


6. +….(n పదాల వరకు )= 

Watch Video Solution

a + ar + ar
2

a(rn − 1) /r − 1, r ≠ 1

7. Use mathematical induction to prove that statement

Watch Video Solution

13 + 23 + 33 + . . . + n
3 = , ∀n ∈ N

n
2(n + 1)2

4

8. Use mathematical induction to prove that statement

 for all 

Watch Video Solution

n

∑
k= 1

(2K − 1)2 =
n(2n − 1)(2n + 1)

3
n ∈ N

https://dl.doubtnut.com/l/_K1Ubg6Ri4djl
https://dl.doubtnut.com/l/_chp5ESuDUUin
https://dl.doubtnut.com/l/_84eYsTNygvk1
https://dl.doubtnut.com/l/_deSQyNgLqhjJ
https://dl.doubtnut.com/l/_Znerqv3CROJm


9. గణితనుగమన పద్ద తిని ఉపయోగించి

 అని చూపండి.

Watch Video Solution

(2n − 3), = 2n− 2, ∀n ≥ 5, n ∈ N

10. Use mathematical induction to prove that 

for all 

Watch Video Solution

2n − 3 ≤ 2n− 2

n ≥ 5, n ∈ N

https://dl.doubtnut.com/l/_Znerqv3CROJm
https://dl.doubtnut.com/l/_HPaGWHImZNuL

